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1. 37, 3s. U1 3R, Pal Rerg 8 ? 1. lIPR s located at :

(A) PR (A) Kanpur

(B) R (B) Rampur

(C) G (C) Lucknow

(D) 3 feeel (D) New Delhi

2. W&l Tl @ fbdad gIRT AIUT Il @ ° 2. Soil moisture is measured by :

(A)  ArHROTH (A) Evaporimeter

(B) <f~aameR (B) Tensiometer

(C) TddemHIcy (C) Albedometer

(D) MR (D) Barometer

3. 5 ¥l U 3R & UTl WRIMCWd $HF 3. First Director General of ICAR s :
9 ?

(A) 9. favam (A) B. Vishwanath
(B) dI. 4. Urd (B) B.P.Pal
(C) vir= Rig (C) Jogendra Singh
(D) faam R (D) Vidyasagar

4.  GUfEe arddr e gn A oy € ? 4.  Relative humidity is measured by :

(A) RHR (A) Barometer

(B) oMM (B) Thermometer
(C) WEHMICR (C) Psychrometer
(D) Sugad FI (D) All of the above
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U1 BV & ARG ST I FEd ¢

(A) ¥ Il
(B) T T
(C) T T

(D) 9aT &I 4-T=

/A Y T o F

(A) e & ey H FER HRAT
(B) Ul TGl BT FReT0

(C) Tl DT AN BH BT
(D) Suda Wl

TR B 3 WRReIfE gl &

(A) I

(B) ¥

(C) T (A) ¥R (B)
(D) SWad # ¥ DS T2
FRAG A B B E
(A) fde W

(B) g @l el

(C) HiheR

(D) ST W
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Relative proportion of soil particles is

called :

(A) Soil texture
(B) Soil colour
(C) Soil structure

(D) Soil pH

Advantages of sustainable agriculture

are .

(A) To improve soil health
(B) Conserving natural resources
(C) Low cost of cultivation

(D) All of the above

In sustainable agriculture, ecology is :
(A) Stable
(B) Fragile
(C) Both (A) and (B)

(D) None of the above

Forms of organic farming are :
(A) Biological farming

(B) Nature farming

(C) Permaculture

(D) All of the above

Set-C



10.

11.

12.

IS TN B T ¢
(A)  Siafafgear § w41
(B) ST o SdRar H P
(C) T @I 3BT
(D) SWa &l

457 garg oAl B

(A) WAHS YRR
(8) fede e

(C) SffaRed quiRwepor
(D) A & a8 & BN fohar

AT Tg B ARA B @

(A) ¥ R

(B) I uRwpvor
(C) THI (A) 3R (B)
(D) SWa ¥ ¥ I3 Tl

YT YUREPRYT Bl TR T 8

(A) ARG H
(B) UM H
(C) I WU H

(D) w9 #
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10.

11.

Problems of modern agriculture are :
(A) Reduction in biodiversity

(B) Depletion of soil fertility

(C) Denudation of forest

(D) All of the above

Sowing of seed is a :
(A) Primary tillage
(B) Secondary tillage
(C) Extratillage

(D) After cultivation

Extreme form of minimum tillage is :

(A) Zero tillage

(B) Conservative tillage

(C) Both (A)and (B)

(D) None of the above

The concept of minimum tillage started
in:

(A) India

(B) Japan

(C) U.S.A.

(D) Russia
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13. TS BHd H Bl WM arell JIREROT fohar 13. The tillage operation that is carried out in

e the standing crops is called :
(A) TAHG YRR (A) Primary tillage
(B) fgciiad quRwnxol (B) Secondary tillage
(C) Wl B 915 o (C) After cultivation
(D) SWE ¥ ¥ IS el (D) None of the above
14, R 981 & FUI BT AHR Bl o : 14. Size of clayey soil particles is :
(A) 0.02—0.002 mm (A) 0.02—0.002 mm
(B) <0.002 mm (B) <0.002mm
(C) 0.00002 mm (C) 0.00002 mm
(D) 0.003 mm (D) 0.003 mm

15, JfRa 4 | Rers @ d9-d fafd 15.  Which irrigation method is applied in

undulated land ?

YIRT BT Sl & ?

(A) TS RiEmg (A) Drip irrigation

(B) fosam R (B)  Sprinkler irrigation
(C) &g faf (C) Furrow method
(D) dIe fafr (D) Flooding method
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16. WA @ Bl [=idd M 2 : 16. Total degraded land of India is :

(A) 187 fferd B, (A) 187 m ha.
(B) 195 feRH B, (B) 195 m ha.
(C) 200 fferE ®. (C) 200 m ha.
(D) 150 FfeRH 2. (D) 150 m ha.
17. 99 USi @ 9 g IFT HHAl $I Sl 17. Cultivation of arable crops with large
P B trees is called :
(A) RIcdidmeaR (A) Silviculture
(B) TI-EfidheeR (B) Agri-horticulture
(C) Rycd-remR (C) Silvi-pasture
(D) Elg‘f%f pIERRCK] (D) Arable cropping
18. T H 984 UM & GUE Bl bed © 18. Collection of runoff water in ponds is
called :
(A) SR Y49 (A) Watershed management
(B) I IHC (B) Water harvesting
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SUYa H H IS el (D) None of the above
19. B gl yfiieE Fwl 2 19. Farming system represents :
(A) BN IEH BT YD (A) Integration of farm enterprises
(B) Eﬁfﬁ G BT ThIhRoT (B) Integration of farm resources
(C) HFd I (C) Cropping scheme
(D) Sugad FI (D) Al of the above
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20. Wl & UYBR Bl YWIfAd HRA adTod

PRE T :

(A) IAE Gy

(B) WIRH 3R 3rff¥acar
(C) WM W

(D) SWF &l

21. WugaR FRIGE & @ |Rgiae A

3

(A) T @ A
(B) TR I T
(C) & Bl I
(D) Suda Wl

22. WHGE! TG BT FET oIl R
(A) RfideR
(B) IWHeR
(©) ThPeR
(0) f

23. U6 BM o W fodll to Sare a1 1h
SEM ¥ B dlell 3 @ 3 & 50% W
s 7 IHD TR BT 8, HEANT & :

(A) fafag oM
(B) fo9Iy w
(©) fowga wr
(D) FIERIgHT BH
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20.

21.

22.

23.

Factors affecting type of farming :

(A) Product relationship
(B) Risk and uncertainty
(C) Farmsize

(D) All of the above

Cultural method of weed control is :

(A) Plants geometry
(B) Time of sowing
(C) Selection of crop

(D) All of the above

Rearing of honeybee is known as :

(A) Pisciculture
(B) Sericulture
(C) Apiculture

(D) Agriculture

A farm on which the income from a
single product or one enterprise is more
than or equal to 50% of total farm income

is called :

(A) Diversified farm
(B) Specialised farm
(C) Extensive farm

(D) Commercialised farm

Set-C



24,

25.

26.

217.

UYUI & FRS HEAl B I
SHEUESE

(A) BT wad &

(B) feRT @

©) faf¥a @t @1

(D) 3dmdFl &l
qoftaral Wil &1 4 I © ;

(A) ARHTH A U HRAT

(B) ¥aI Il H JUR Gl

(C) CIICIICNUIﬁ{iHN D]

(D) Sugad Fl

AT Wl ¥ G @1 yded fhds g
fohar ST 2 ?

(A) T Y faeafderay

(B) XU WRPR

(C) T IR

(D) SUgdd FHI

ffeiRad # & SN yomell &1 dF-41
gch ol T ?

(A) B IcTeH

(B) Ffara

(©) FfY &M

(D) T are

AG-604
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24,

25.

26.

217.

Growing of crop with rearing of cattle is
an example of :

(A)
(B)
(®)
(D)

Mixed cropping
Ranching
Mixed farming

Intercropping

Main objective of capitalistic farming is :
(A) To maximise profit

(B) To improve soil fertility

(C) To improve environment

(D) All of the above

In state farming, farm

by :

is managed

(A)
(B)
(©)
(D)

State Agricultural Universities
State Government
Central Government

All of the above

Which of the following is not a

component of farming system ?

(A) Crop production

(B) Agroforestry

(©)

Agricultural industry

(D) Poultry
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28. USYH WM TG ST BH SN 28. Demonstration farm and research farm

3. are examples of :

(A) oy =l & (A) Specialised farming
(B) ®MUNE Wl & (B) Corporate farming
(C) DR Wl (C) State farming

(D) Yolarel &dl & (D) Capitalistic farming

29. IEHUA GADG Sl ST fede forw 29. Multiple cropping index is used for :

e ST § ?
(A) E YUTTell bl Hodidh] (A) Evaluation of cropping system
(B) &N YUTTell T Heich (B) Evaluation of farming system
(C) fedre SN &1 Jodie (C) Evaluation of sustainable agriculture
(D) Sugad FI (D) All of the above
30. fwfeiad # & ReIloe wodt @ 30. Which of the following crops is called
restore crop ?
(A) S arell (A) Cereals
(B) HIC 3T dTell (B) Millets
(C) Tofgl (C) Pulses
(D) YO HHA (D) Sugar Crops
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31, =fRed & 9 fod dear 98 w1 31. Which of the following cannot be

T ? changed ?
(A) &I & (A) Soil texture
(B) ¥<T TR (B) Soil structure
(C) a1 3w (C) Soil colour
(D) 9eT @1 dI-va. (D) Soil pH

32. URRYT FT e 2 32. Father of tillage is :
(A) SRRl T (A) Jethro Tull
(B) QMR I (B) Arthur Young
(C) e (C) Liebig
(D) . TH. &R (D) J.S. Kanwar

33. 99 oAl 99 d 998 fhad ufaea 33.  How much area (%) should be reserved
SEme Idl wea ot @ TN B for making channel, road etc. at the time

of drawing of cropping scheme ?

fory M v § 2

(A) 20% (A) 20%
(B) 30% (B) 30%
(C) 40% (C) 40%
(D) 10% (D) 10%

34. PN DY BT IS & 34. Example of cover crop is :

A) T (A) Wheat
(B) S (B) Urd
(C) Hal (C) Maize
(D) ™ (D) Rice
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35. TR @ Wig § AEEeH b1 Gfoed g

g
(A)
(B)
(©)
(D)

36. faHfolRad # ¥ BE-9T PED I

g 7?

A R

(B) T YRGB

(C) f® BT

(D) FHIE

37. 9Rd # BRA wifd & U &

(A) T g IR

(B) TUH. UH. WM
(C) < 9uE Rig

(D) 1. EIfd= TR

38. ffIRad & 9SG We 78l ¢

(A) RS
(B) THIHHRE
(C) A 39y
(D) R

AG-604

0.3%
0.5%
0.4%
0.2%

C

X

(12)

35.

36.

37.

38.

Percentage of nitrogen in F. Y. M. is :

(A) 0.3%
(B) 0.5%
(C) 0.4%
(D) 0.2%

Which of the following is an organic

fertilizer ?

(A) Urea
(B) Single superphosphate
(C) Rock phosphate

(D) Compost

Father of Green Revolution in India is :
(A) N.E.Borlaug

(B) M. S. Swaminathan

(C) Dr. Punjab Singh

(D) Dr. Hargovind Khorana

Which of the following is not an organic

manure ?

(A) Compost

(B) Vermicompost
(C) Crop residue

(D) Urea

Set-C



30. TfSe HH Td BAA B WM gavem 39

P AT AT 2
(A) HEA U
(B) ¥ Tk
(C) wga Yurrel!

(D) Mi¥a wod

40. ¥ 7 UM WIS E 40.

(A) HId IH H

(B) dgHYA H

(C) Ref wiftr #

(D) RIFIRRY &Y H

41. TGl © : 41,

(A) TP B
(B) TH VaSIRP
(C) M (A) 3R (B)

(D) SUYa H A Bl 7Tl

AG-604 (13)

Yearly sequence and spatial arrangement

of crops is known as :

(A) Cropping pattern

(B) Crop rotation

(C) Cropping system

(D) Mixed cropping

Rotation of land is found in :

(A) Crop rotation

(B) Multiple cropping

(C) Relay cropping

(D) Shifting cultivation

Azollaisa:

(A) Fern

(B) Biofertilizer

(C) Both (A) and (B)

(D) None of the above

Set-C



42.

43.

44,

45.

AG-604

15T Sreprehvl (e gRT fdham ST & ?
(A) TS

(B) i

(C) T (A) 3R (B)

(D) S F ¥ I T

U Argeior & fbdd w9 § ofd 8 ?
(A) 3EIfTIH

(B) Esc

(C) g

(D) T (A) 3R (B)

AT H BEel Fod g9 Bl 2

(A) 200%
(B) 100%
(C) 300%
(D) 400%

R & Ul & T SaRd B YA Bl
e T

(A RET

(B) mgslcier

(C) R

(D) SUYa H A Bl 7l

(14)

42.

43.

44,

Seeds are inoculated by :
(A) Azolla

(B) Rhizobium

(C) Both (A) and (B)

(D) None of the above

Plants take nitrogen in the form of :

(A)  NH,

(B) NO,

€ N,

(D) Both (A) and (B)

Cropping intensity of monocropping is
always :

(A) 200%

(B) 100%

(C) 300%
(D) 400%

Use of fertilizer with irrigation water is
known as :

(A) Fumigation

(B) Isolation

(C) Fertigation

(D) None of the above

Set-C



46. Hal d1Y ERCACE ISR CHI FRAEI I RRI] 46. Percentage of CO, in soil air is :

BT B

(A) 0.03% (A) 0.03%
(B) 0.003% (B) 0.003%
(C) 0.25% (C) 0.25%
(D) 0.50% (D) 0.50%
47. fefoRed § ¥ Saemerh & 47. Which of the following is a
bioherbicide ?
(A)  DIfer (A) Collego
(B) fe-arsw (B) De-vine
(C) THI (A) 3R (B) (C) Both (A) and (B)
(D) SW@ ¥ ¥ I T (D)  None of the above

48. BAd YUl RTIH BEAl Bl S, 48. Cropping system which involves the

. ) . raising of crops, animals and/or trees is
STMARI BT 9T, TG /31 ISl Bl T 1T J P

called :
SR ST €, 8l &

(A) i @ (A) Mixed farming
(B) 3d®HHA (B) Intercropping

(C) TAPBT B (C) Mixed cropping
(D) SUYa H A Bl 7l (D) None of the above
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49. T YOTTCl ST 2 :

(A) SFTEI JTaegehdl TR
(B) fda armaegadar maRa
(C) SROIT ATTTABAT IR

(D) SWF &l

50. UdIgd B JoTell UR R @ -

(A) T A
(B) URaR® s1f® IR A
(C) URAR @I uyoy Frefm A

(D) Suga Wl

51, 9. U ¥ O A9 § S99 drell Bdd

2

(A) 3o
(B) WAR
© H

(D) HawHT

AG-604
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49.

50.

51.

Farming system research is :

(A) Research need based

(B) Farmers need based

(C) Institute need based

(D) All of the above

Integrated farming system improves :

(A) Farm income

(B) Family labour employment

(C) Nutritional security of family

(D) All of the above

The crop grown in U. P. during all the

seasons is :

(A) Urd

(B) Sorghum

(C) Moong

(D) Maize

Set-C



52.  PHAMIT Bdcl BT 3TN © 52.  Anexample of companion cropping is :

(A) T+ 3Te] (A) Sugarcane + Potato
(B) 3ef + SRssll (B) Potato + Mustard
(C) 3] + Heil (C) Potato + Radish
(D) g + WAl (D) Wheat + Mustard

53.  3Tef T 9T W P SIHEAd Pl 53. Intercropping of mustard with potato is

I recommended in :

(A) UfoRATTT Aer o (A) Replacement series

(B) INTHE @l H (B) Additive series

(C) UfCRATYT-HE-IIA gl H (C) Replacement-cum-additive series
(D) SUId H H I el (D) None of the above

54. 99 DI dgdl IMHAN WX oMY BIdl 54. Rainfall intensity is generally higher

3 on:
(A) TR Mg (A) Northern hemisphere
(B) gferoft Merg W (B) Southern hemisphere
(C) YAy G & T (C) Near equator

(D) SUYa H A Bl 7l (D) None of the above

AG—-604 (17) Set-C



55. f=folRad ® W P BRI Pl 55.  Which one of the following increases

phosphate solubility ?

gATieral &l qgIT & ?

(A) TSI (A) Clostridium

(B) WS (B) Pseudomonas

(C) TScdgex (C) Azotobactor

(D) TEERIEAN (D) Nitrosomonas
56. N (LEISA) WM 2 : 56. LEISA is related to :

(A) FEHD W A (A) Organic farming

(B) JIHHEMD Wl A (B) Inorganic farming

(C) Wdfdd &l 4 (C) Natural farming

(D) Sugad F4I (D) All of the above
57. TIg ga1 4§ febegept bl &Il & 2 57.  Tarai soils are deficient in :

(A) N (g (A) N

(B) P (@) (B P

(C) S (AeHv) (C) S

(D) zn (i) (D) Zn

AG-604 (18) Set-C



58. @l Ul dlell PG @e H

GIeT : AGEN U e W AN

el &I =1fey ?

(A) 10
(B) 20
(C) 30

(D) 40

59. WA ¥ 59 d@ & Al de™ 3ifd

B g ?
(A) SifeiIo
(B) 3MIRA

(C) TgHINIH
(D) FRifere

60. ¥aT BT Wl O & -

(A) T A
(B) HaT XA
(C) a1 &1 4i-7=

(D) &1 B XA

AG-604
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58.

59.

60.

In a good quality manure C : N ratio

should not be more than :

(A) 10
(B) 20
(C) 30

(D) 40

Concentration of which element

highest in soil ?

(A) O,

(B) Fe

) Al

(D) Si

Permanent property of soil is :
(A) Soil structure

(B) Soil texture

(C) Soil pH

(D) Soil colour

Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® WA & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-geb, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
T H U BT SN BN & I BT |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
8
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